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NB. PLEASE ACCEPT ANY OTHER APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.

I. COMPREHENSION (15 POINTYS)

(While scoring comprehension, testees should not be penalized for spelling or grammatical mistakes)

A. Multiple choice. (2 pts)
The problem of working women in Kuwait.
B. True or false with justification (2 pts: 1pt for each correct and justified answer)
1. True: I can’t do that unless I’m married. 2. True: She has been a housewife all her life.
C. WH questions (3pts: 1 pt for each appropriate answer)
1. ..to support her family and satisfy her needs.../taking a share in the household finances../life is expensive.
2. She’s studying hard to get a degree.../she is a student...
3. ...to find a balance between supporting a household and taking care of the children....
D. Sentence completion (2pts: 1 pt for each appropriate completion)
| R to take care of her two daughters/children/...
s the number of working women in Kuwait is continuously increasing...
E. Word meaning (3 pts: 1 pt for each correct answer)
1: kid  2: permit 3: take care
F. Word reference (3 pts: 1 pt for each correct answer)
1. it : the idea of a working woman 2.She: her mother/Batool’s mother 3: them : my friends

II. LANGUAGE (15 POINTS)

A. Gap Filling : (3 pts : 1 pt for each correct answer)
1. have access 2. note taking 3. take place
B. Word Form: (3pts: 1 pt each correct answer)
addiction - harmful - behaviour/behavior
C. Verb Tense: (1.5 pts: 0.5 pt for each correct answer)
were trying - joined - will have replanted
D. Gap Filling (1.5 pts : 0.5 each correct answer)
who - where - which
E. Sentence rewriting: (3 pts: 1 pt for each correct answer)
1. Kamal said (that) he wouldn’t be able to attend the wedding party.
2. Many social projects have been funded (by the association).
3. Mounir wishes he hadn’t dropped out of school/he had continued his studies/...
F.Blank Filling (3 pts : 1 pt for each correct answer)

1: as a result 2:. though 3: due to
ITI. WRITING (10 POINTS)  The following criteria should be taken into consideration
Scoring criteria Scores
Relevance of content to the task (3 pts)
Coherence and cohesion (2 pts)
Appropriateness of vocabulary ( 2pts)
Accuracy of grammar (2 pts)
Mechanics (1pt)




